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7HRUL� JUDI� SHUWDPD� NDOL� GLSHUNHQDONDQ� ROHK� VHRUDQJ� PDWHPDWLNDZDQ�

VZLVV�� \DNQL� /�� (XOHU�� 3DGD� VDDW� LWX�� PDVDODK� MHPEDWDQ� .�ሷQLVEHUJ� DGDODK�

PDVDODK�\DQJ�SHUWDPD�NDOL�GLVHOHVDLNDQ�GHQJDQ�PHQJJXQDNDQ�JUDI��7HUGDSDW�

WXMXK� EXDK� MHPEDWDQ� \DQJ� PHQJKXEXQJNDQ� DQWDU� GDUDWDQ�� 0DVDODK� SDGD�

MHPEDWDQ� .�ሷQLVEHUJ \DLWX� PXQJNLQ� WLGDNQ\D� NHWXMXK� MHPEDWDQ� WHUVHEXW�

PDVLQJ�PDVLQJ�GDSDW�GLODOXL�WHSDW VDWX�NDOL�GDQ�NHPEDOL�ODJL�NH�WHPSDW�VHPXOD��

6HEDJLDQ� SHQGXGXN� NRWD� EHUVHSDNDW� WLGDN� PXQJNLQ� GDSDW� PHODOXL� NHWXMXK�

MHPEDWDQ� WHUVHEXW� KDQ\D� VHNDOL� GDQ� GDSDW� NHPEDOL� ODJL� NH� WHPSDW� VHPXOD��

QDPXQ�SHQGXGXN�NRWD�WLGDN�EHJLWX�PHQMHODVNDQ�DODVDQ\D��NHFXDOL�GHQJDQ�FDUD�

FRED�FRED�� 3DGD� WDKXQ� ����� /�� (XOHU� EHUKDVLO� PHPHFDKNDQ� SHUPDVDODK� LQL�

GHQJDQ�PHWRGH�\DQJ�VHGHUKDQD�\DLWX�PHODOXL�JUDI��'DUDWDQ�\DQJ�PHQMDGL�WLWLN�

WLWLN� \DQJ� GLKXEXQJNDQ� ROHK� MHPEDWDQ� WHUVHEXW� GLQDPDNDQ� GHQJDQ� WLWLN�

ሺݔ݁ݐݎ݁ݒሻ GDQ�MHPEDWDQ�SHQJKXEXQJQ\D�\DQJ�GLQ\DWDNDQ�GDODP�JDULV��GLVHEXW�

GHQJDQ� VLVL� ሺ݁݀݃݁ሻ�� /�� (XOHU� EHUNHVLPSXODQ� EDKZD� WLGDN� PXQJNLQ� PHODOXL�

NHWXMXK�MHPEDWDQ�WHUVHEXW�PDVLQJ�PDVLQJ�VDWX�NDOL�GDQ�NHPEDOL�ODJL�NH�WHPSDW�

VHPXOD�NDUHQD�VHWLDS�WLWLN�SDGD�MHPEDWDQ�WHUVHEXW�PHPLOLNL VLVL�\DQJ�EHUGHUDMDW�

JDQMLO�� 6HKLQJJD� SHUPDVDODKDQ� MHPEDWDQ� .�ሷQLVEHUJ PHQMDGL� VHMDUDK� ODLQ\D�

GDODP�WHRUL�JUDI >�@�

7HRUL� JUDI� PHUXSDNDQ� VDODK� VDWX� FDEDQJ� LOPX� PDWHPDWLND� \DQJ�

PHQGDSDW� EDQ\DN� SHUKDWLDQ� NDUHQD� PRGHO�PRGHOQ\D� \DQJ� VDQJDW� EHUJXQD�

GDODP�NHKLGXSDQ�VHKDUL�KDUL��6HSHUWL�KDOQ\D�GDODP�MDULQJDQ�NRPXQLNDVL��LOPX�

NRPSXWHU�� WUDQVSRUWDVL� GDQ� PDVLK� EDQ\DN� DSOLNDVL� ODLQQ\D� GDODP� NHKLGXSDQ�

VHKDUL�KDUL�� 3HQJJXQDDQ� WHRUL� JUDI� GDODP� EHUEDJDL� ELGDQJ� WHUVHEXW� EHUIXQJVL�

XQWXN� PHPRGHONDQ\D� GDQ� PHQ\HOHVDLNDQ� VXDWX SHUPDVDODKDQ�� \DQJ� PDQD�

QDQWLQ\D�DNDQ�OHELK�PXGDK�GDQ�MHODV�GDODP�PHQJDQDOLVLVQ\D�>�@�
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7HRUL� SHZDUQDDQ SDGD� VXDWX JUDI� PHUXSDNDQ� VDODK� VDWX� REMHN� \DQJ�

PHQDULN�GDQ�WHUNHQDO�GDODP�ELGDQJ�WHRUL�JUDI��.RQVHS�P�SHZDUQDDQ�VHPSXUQD�

EHUSHUDQ� SHQWLQJ� GDODP� WHRUL� JUDI�� NRPELQDVL� DOMDEDU�� GDQ� WHRUL� FRGLQJ��P�

SHZDUQDDQ� VHPSXUQD� GDSDW� GLDSOLNDVLNDQ� SDGD� JUDI� ݇�UHJXODU�� 8QWXN�

PHQHQWXNDQ� DSDNDK� VXDWX� JUDI� PHPSXQ\DL� ݉�SHZDUQDDQ� VHPSXUQD�

GLSHUOXNDQ�PDWULNV�SDUDPHWHU�\DQJ�VDODK�VDWX�QLODL�HLJHQQ\D�DGDODK�݇ >�@�

.DUHQD� � PDVLK� VHGLNLW� SHQHOLWLDQ� PHQJHQDL� ݉�SHZDUQDDQ� VHPSXUQD�

SDGD� VXDWX� JUDI�� PDND� SHQXOLV� WHUWDULN� XQWXN� PHQHOLWL� WHQWDQJ�݉�SHZDUQDDQ�

VHPSXUQD�SDGD�VDODK�VDWX�JUDI�݇�UHJXOHU�\DQJ�PHPSXQ\DL�RUGH����\DLWX�JUDI�
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��� 5XPXVDQ�0DVDODK

5XPXVDQ�PDVDODK�SDGD�6NULSVL�LQL�DGDODK��

�� 0HQFDUL�PDWULNV� SDUDPHWHU� XQWXN� JUDI� ͵�UHJXOHU� \DQJ�PHPSXQ\DL� RUGH�
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�� 0HQHQWXNDQ� ݉�SHZDUQDDQ� VHPSXUQD� GHQJDQ� QLODL� ݉ ൌ ͵ SDGD� JUDI�

0ƂELXV�.DQWRU�

��� %DWDVDQ�0DVDODK

%DWDVDQ�PDVDODK�SDGD�VWXGL�OLWHUDWXU�LQL�DGDODK��

�� *UDI�\DQJ�DNDQ�GLXML�DGDODK�JUDI�0ƂELXV�.DQWRU�

�� ݉�SHZDUQDDQ�VHPSXUQD�GHQJDQ�݉ ൌ ͵�

��� 7XMXDQ�3HQHOLWLDQ

7XMXDQ�SHQHOLWLDQ�GDUL�6NULSVL� LQL�DGDODK�XQWXN�PHQJHWDKXL�EDJDLPDQD�

݉�SHZDUQDDQ�VHPSXUQD�SDGD�JUDI�0ƂELXV�.DQWRU��0DQIDDW�GDUL�SHQHOLWLDQ�LQL�

DGDODK�PHQDPEDK�ZDZDVDQ� EDJL� GXQLD� SHQJHWDKXDQ� WHUXWDPD� GDODP� ELGDQJ�

JUDI��NKXVXVQ\D�GDODP�SHPEDKDVDQ�݉�SHZDUQDDQ�VHPSXUQD�SDGD�VXDWX�JUDI�

��� 0HWRGH�3HQHOLWLDQ

0HWRGH� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� VNULSVL� LQL� DGDODK� VHEDJDL�

EHULNXW�
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�� 6WXGL� OLWHUDWXU� EHUXSD� SHPDKDPDQ� PHQGDODP� PHQJHQDL� ݉�SHZDUQDDQ�

VHPSXUQD�

�� 3HQGDODPDQ�NDMLDQ�WHQWDQJ�VXDWX�JUDI�\DLWX�JUDI�0ƂELXV�NDQWRU�

�� %HEHUDSD� WHRUL� \DQJ� EHUKXEXQJDQ� GHQJDQ� SHPEDKDVDQ� \DQJ� GLSHUROHK�

GDUL�EHUEDJDL�EXNX�GDQ�MXUQDO�RQOLQH GDQ�RIILOLQH�

��� 5XDQJ�/LQJNXS�3HQHOLWLDQ

0DWULNV�SDUDPHWHU�

͵�SHZDUQDDQ�
VHPSXUQD

݉�SHZDUQDDQ�
VHPSXUQD

*UDI�0ƂELXV�
.DQWRU

͵�SHZDUQDDQ�VHPSXUQD�
SDGD�JUDI�0ƂELXV�.DQWRU

7HRUL�*UDI

*UDI�݇�UHJXOHU



ϰ

��� 6LVWHPDWLND�3HQXOLVDQ

6LVWHPDWLND� SHQXOLVDQ� GDODP� SHQ\XVXQDQ� VWXGL� OLWHUDWXU� LQL� DGDODK VHEDJDL�

EHULNXW��
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%DE� LQL� EHULVL� WHQWDQJ� ODWDU� EHODNDQJ�PDVDODK�� UXPXVDQ�PDVDODK��

EDWDVDQ�PDVDODK�� WXMXDQ�� UXDQJ� OLQJNXS�SHQHOLWLDQ�GDQ� VLVWHPDWLND�

SHQXOLVDQ�
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%DE� LQL� EHULVL� WHQWDQJ� WHRUL�WHRUL� \DQJ� PHQGDVDUL� SHPEDKDVDQ�

GDODP�6NULSVL LQL�VHFDUD�JDULV�EHVDU�
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%DE� LQL� EHULVL� SHPEDKDVDQ� XWDPD� GDUL� VWXGL� OLWHUDWXU� LQL�� \DQJ�

PHOLSXWL�͵�SHZDUQDDQ�VHPSXUQD�SDGD�JUDI�0ƂELXV�.DQWRU EHVHUWD�

SHPEXNWLDQ\D�
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%DE� LQL� EHULVL� NHVLPSXODQ� GDUL� SHPEDKDVDQ� \DQJ� WHODK� GLNDML��

6HODLQ� LWX� MXJD� GLEHULNDQ� VDUDQ� XQWXN� SHQJHPEDQJDQ� OHELK� ODQMXW�

XQWXN� SHPEDKDVDQ� WHUVHEXW�� .HPXGLDQ� GLDNKLUL� GHQJDQ� GDIWDU�

SXVWDND�


